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57:58 ‘ N ‘O 25 -1

algill §)ly=J1 - » final temperature

The volume of a sample of gas measured at 25.0°Cand 1.00 atm  .5.00 L s» 1.00 atm taa s 25°C 5 )) ya da 0 e 5lall e Al ana

is 5.00 L. if the gas was pressed to 3.00 atm and the volume 30l allds 50 Ld 2,00 L paall meal 53,00 atm J Sl L 3 13)
became 2.00 L what is the final temperature? el aaled

V, = s00L 5L

P, = 1.00atm Ky 2081
L P, = 300atm
T = 250
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bsuallg p==ll Volume & Pressure

Which diagram shows the correct relationship between volume (V) (V) o O dassall ADlal) gy (3 Labidl Lo
and pressure (P) for a gas at constant temperature? Al 5yln dap0 e (P) Hlall lariay
O v
P
[®) "4
P

e e Mg e o e Moy Sy S o B PO POy ey e s S e ey o e e S =
1 1
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e &lball ;a2 . Absolute zero

Which of the following statements is correct regarding the absolute zero? folhdll ially alaty Lad dasas 40 il jlall (g 4
C  Itisthe zero on Celsius scale temperature 45kl 3 ) el A s it e dsa gl jiall e
o e, iy
O  Allatoms are in the highest possible energy state Al e ASan s el 8 Lgagan <l 00 0 S5
(O  Thereis a lower degree than the absolute zero in minus Ll lhd)l jaall e J81ds o aa gl

100%
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Q Which is NOT an assumption of the kinetic—-molecular theory? faiiall A$)all 40yl Ll i) ol 20 il yland) ‘_53

AR |

O All gases at a given temperature have the same average kinetic energy. ASHal) Gl daigie e dla Byla da gy < alyladl J<I
'O Althe gas paricies n a sample have the samevelosry. o i et g 0 e

O A gas particle is not significantly attracted or repelled by other gas particles. cpan ae jlall Clases BUS g ilam Y

_)  Collisions between gas particles are elastic. Uye el Glasen gis palaall (55

100%




57:01 ‘ | ‘Q 25-5 O‘ cCH®BE A-2022-2021 - SUW il badll Glgs olaiol - eliagSll -~ puazall huall - rotall cauall

-

0 Four identical balloons were filled with different gases to the same volume. Adhde Shle Ga anal) el BEle 23 dalaie clighy a j
Which balloon does the gas effuse the fastest from it? 96 poal (0 dle i) (3 ligld) (6]

CCly Cly N, | CO; Al gall Ak

Molar Mass
(g/mol)

154 71 28 44

( CO,
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e Dlxlbhuasll :Jdlxallg budlxall Mixtures and Solutions: Vocabularies
A measure of a solution of how much solute is dissolved in Cudall (pe B2das A0S & ABIN ALl LaaS eyl (b
specific amount of solvent or solution is : ; & Joladl
y Mole ratio A gall daual)

O Dilution Caaaanll
i Concentration 3l ;
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: a2l - p22Jl V- me - volume

56:44

How many liters of propane gas (CsHs) will undergo Led s abws Al (CaHg) olisd) Jle &l il aae oS
complete combustion with 30.0 L of oxygen gas? $onanSY) e 50 30.0 L 2352 & JoSIL
Assume that pressure and temperature remain constant syl pall ds jo g Ll il

C3Hs(g) + 502() = 3COx() + 4H20¢)

J 1L
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e dlilw 83l o dulio 33l jlLgd Solid  olve in a liquid
Which of the following factors generally increase Olgd Jarae 5al) M ale IS8 (55 00N Jalgall e ()
the rate at which a solid dissolve in a liquid? ealils sale 8 Lo ddia sole
i. | Increasing the pressure of the solution Jsbadl e 3345 | j
ii. | Shaking or stirring the solution Jsladll ol as ol 75 | i
iii. | Increasing the surface area of the solute Q) pedas Aalise 33305 | i
iv. | Increasing the temperature of the solvent el 7 ) ja Ay AL | Liv
i i, iii and iv only L jv g ii « i §
O i and ii only Ladjj i

i, i, and iii only Lasd i 5 < ¢




56:23 ‘ N O 25-9 °| cHSB A-2022-2021 - S Gyl Ladll &l glaiol - cluasSIl - pasiall jluall - jole)l wnll | =

9 saJl molality m

Which of the following is the correct definition of molality (/7)? ¢(m) 4l sall pasal) Cay il o L Las !
(O  The ratio of the number of moles of solute dissolved in 1 L of solution. Jslaadl a1 L A AN QIR @Y g4 dae A
The ratio of the number of moles of solute or solvent in solution L jlas Jladll o udal) o Al oY o dae A
O to the total number of moles of solute and solvent. A5 unlll laaY) @ sl ey

O The ratio of the volume of the solute to the volume of the solution. Jsladdl aas ) 122l PO R




56:13 ‘ N ‘Q 25-10 O‘ CESE A-2022-2021 - EJEI sl ool dolgs glaial - eluousJl - paiiall jLusell - aslsll il

a What is the total pressure for a mixture that contains three s chile e o ggiay Lalal ‘F\g‘ IR i o
gases with partial pressures of 1.35 kPa, 3.81 kPa, and 5.22 kPa? ¢ 5.22 kPa « 3.81 kPa « 1.35 kPa _JullS 253

L LT ]

=

o

w

0o

~

)

Q
-




55:59 ‘ I ‘O 25 - 11 O‘ cHSE A-2022-2021 - EJEI | Jaadd] &lgi olxiol - eluasSIl - paiiall jluall - milsdl caall =

e The element Astatine is the heaviest known halogen, clingllgll Ao gana B Cigyan yuaie J&1 o (bl paie
what would its physical state be at room temperature? a8 )all B dajn A dadgiall ALl aills L

Group 17
13 14 15 @ 16 17 18 The Halogen

AlN ESIH 8PS §SY Cl FAr Group

30 3 32 33 34 35 3F
Zn ~ _ Ge As Se Br ’

4 49 S50 51 52 53 54

80 82 83 84 |85 86 N

-
-
A\
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9 aliall Jloe ausuaxll Sljlell (props  .es of real and ideal gases «s ideal gases
Which of the following is a characteristic of the ideal gas? f bl Sl pailas (e b s L_si
QO s particles take up space and measured in volume units (L) (L) paadl Bang lgie juasg gl (e Das dolasas Jado
| s paricls colide with each other or with he wal surface  eladi segh chin g 5 Yot e ot |
E @ in perfectly elastic way ‘;“:u J Ay | .:.
" its particles experience intermolecular attractive forces i LAlas (godl Atlasn (1 e
Its particles move at variable velocities and on winding da yaie Gl Bpaie Gilejun Alasa & jam

(zigzag) lines

100%
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e NaOH

How miuch 1M sodium hydroxide (NaOH), in milliliters, Sl 1m0 388 3l (NaOH) ps geall 2S5 508 (o £ a5 oS

is needed to make 500 mL of 0.01M NaOH? €0.01M NaOH (= 500 mL sl
C 50 mL
O 0.5mL
- el
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; Why is the boiling point of ammonia much lower than the boiling R O . T T e
e point of water, as shown in the table below? olial Jpaall & e o8 WS
V [

clall
Water (H,0) 18.0 100
Wigoll
Ammonia (NH3) 17.0 -33.3
i Because N-H bonds in ammonia are less polar dukd 8 LigaY) & N=H Ladg 0 oY ;
L ) !
' than O-H bonds in water slal 8 O-H Lilg)ll e ;
Because nitrogen atoms are more electroneyative 480 )e€ Al ST cpag il iy o
O than oxygen atoms cosa&Y1 ey oy
C Because ammonia is a liquid at room temperature Al 5y dnyn L Jile WigaY) oY
m s :
O Because the molar mass of ammonia is less than water lall Lgia J81 Ligadld Adgall ABSY oY

100%
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-

g The pressure for a gas in a cylinder is 1.00 atm at 300 K. 300 K e 1.00 atm &ilghal i Ll Jaal)
What will be the pressure if the temperature increases to 400 K? €400 K A 5yhall days ) 13) haiiall macass oS
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9 Julaallg Sbgyadl co’  4s and solutions
How can colloids be distinguished from solutions? flllaall e Gligyall jaa (Ko (aS
- Colloid particles are much smaller than atoms. b e S jraal @ligyall Slasan
O Colloid particles are huge in size. caaall 50€ lig jall Sl

4 Colloid particles can settle out or separate out through a filter. i pll o gl @ b e lehiad (Sas (5958l Clasas
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&

In the chemical reactions’ equations, which physical state/s
of matter that can use their coefficients to represent both

molar amounts and relative volumes?

dwileustl Ol «oichiometry

1.45‘-3,);‘3 oNls /J_“_; Lﬁi bS]l EOle el Y alas ‘:,3
Gl 1aan] (glalas aladin) (Koo Bolall @S (e
Calgall il dnaaal) Caudlly lgaudy Siall

i Gas e N
ii. Liquid Jils ii
i Solid o il

i g eiiei
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px>  .dme of CO2

What is the volume of carbon dioxide gas produced from ppnalISl i € (925 G 3 Pl LN (a3l (39S sl 5 e _—

the complete decomposition of from calcium carbonate >
P P 254 € cpsanill Tainlly Blall Aays diey colioh Attt Gy o il

by heating, according to the below equation, and at STP conditions? .
(100 g/mol = CaCO3 ddsall AL o Lule)
(if the molar mass of CaCO; = 100 g/mol)

R = 0.0821 L.atm/mol.K 0.0821 L.atm/mol.K = R

A
CaCO3(s) = CaOs) + CO2(g)

O 89.7L
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e ghiiel L e HWilw ~  iiscible liquids
What does “immiscible liquids™ mean? fzlmad QB e DUl ey Wl
C\ They are insoluble in each other and would form a solid precipitate Cla ) g Gand) lagaany 2 Sl e
O They are soluble in each other in any proportion il s ‘_5L. sand) Leguany A Slgdll L
(©  Moymbomostosher bt iyt e e Gt R ek |
O They have the maximum amount of dissolved solute agd e (e AiSas S S Olgiag

100%
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e duilziall bdliell Hom”  .ieous mixtures

Which one of the following solutions has its solvent in the solid phase? hlall AL 408 Codall Al sl e g‘

O Ocean water Jaaal) olis

- BLEELELT LR PR T Ty P P P P P P P P P P P R R R R R R R R R R PR T PR R R R P R R R R P R R R P R R R R P R R R R R R R R P R R R R R R R R R R R L T R )

®)
)
@
=
5
3
3
D
Q
0
3
E
=

O Vinegar Jal

100%
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e Is_plagbi i £ sadro’s principle

According to Avogadro’s principle, 1 mol of any gas Bhall dayag haraall die Sle gl e (MOI) Jgo 1 clgpalagdl Tase o
at STP occupies a volume of 5,8 lags Jada STP yulall

@ 22.4 L
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e dsiy 32l oadlls dgiyjadl bl g8 Intramolecular and in*  iolecular forces
Which of the following is an intermolecular force? S jall oo bl i) (6 8 e uiad AIEN e
o pyiognbed 00 i
O lonic bond ag syl
O Metallic bond A 5l Ay
O Covalent bond dgaaliall alay) )

100%
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e b jl& p- .olume of a gas

What is the volume of a J.323 mol sample 0.323 mol Wi¥se 22 3l (e dic aaa e

of a gas at 12°C and 0.900 atm? £0.900 atm 5 12°C e
R =0.0821 L.atm/mol.K

53:23

O]
e
n
-
r

100%
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e Using the graph below, which of the following statements is correct? fdasaia 406N @bl e L_gi coli Sl sl aladsil

olubilities as a Function

550,45 )5 Jalie 251000

§ , o Temperature 100
% cacl o % cac
e w J : T 8 -
g 70 / > 1|/
- 60 —~ 8 60 //
© — = o
S L+ 3 3 L~
¥ A 7 ¥ i
g 30 fr Nacl 'lmo, 3 30p- -Nacl /,IKGO
o P> g } 2 > S
2 = Ce,(S0,); — o 10 S Ce,(SO,); —|
w et e e = 0 ™ fr———
0 10 20 30 40 50 60 70 80 90 100 0 10 20 30 40 50 60 70 80 90 100
/emperature (°C) 3, &) i ,a (°C)
KCIO; solubility decreases as temperature increases Shall dajs )l Le 13 (measns KCIO; 4ula
@) Ce,(SOy); solubility increases rapidly as temperature increases Blall da )y 52l die Aoy Ao Cey(SOy); 4wild
{®  <aCl, has a solubility equals 64 g per 100 g of H,0 at 10°C 10°C xe H,0 100 g U< 64 g (gsls CaCly auls |
@ O NaCl has the highest increase in solubility with increasing temperature Bhall da 0 83 xe A281M1 8 8L L;\:.i 1 NaCl

v

100%
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9 <ullg jg)¢  sucrose and oil

Why sucrose dissolves in water while oil does not form Colall aa Y lan 3l (0S5 Y L oLl 5 Sl Gy 13

a solution with water?

 Because oil molecules form hydrogen bonds with water molecules slall Cilasia ae dgiia 9y gl 9 5 () 5S5 Cy Hll Cilaga %))

O Because oil molecules form hydrogen bonds with water molecules slall Cilarin ae dia 5y dadl 55 05S8 Cy jl Gl s
r---' ------------------------------------------------------------------------------------------------------------------- 1
i i
E ) Because sucrose molecules are polar while oil molecules are nonpolar Akl je i) Cilaea Wiy dpkad 5 Sl cllaa oY i
: :
] ]
L I L L L L L L T T I R L L L L L L L L L L L L L T o

O Because sucrose molecules are nonpolar while oil molecules are polar Agdad o 3l Clasn Wi Akl e 59 Sl Gl oY

100%






